Grand Test : CGL-170606

SSC CGL - 170606 GRAND TEST

HINTS AND SOLUTIONS

ANSWER KEY
1 2) 26 (1) 51 3) 76 3)
2 3) 27 3) 52 3) 77 2)
3 (2) 28 (4) 53 3) 78 (2)
4 (2) 29 3) 54 (2) 79 3)
5 3) 30 (1) 55 (2) 80 (1)
6 (2) 31 (4) 56 (2) 81 (2)
7 (4) 32 (2) 57 (2) 82 (2)
8 4) 33 (4) 58 (1) 83 (2)
9 4) 34 (2) 59 (2) 84 (1)
10 (4) 35 3) 60 (2) 85 (3)
11 (1) 36 (2) 61 (4) 86 (2)
12 (2) 37 3) 62 (2) 87 2)
13 (3) 38 (2) 63 (2) 88 (1)
14 (3) 39 (4) 64 3) 89 (3)
15 (2) 40 (2) 65 3) 90 (3)
16 (3) 41 3) 66 3) 91 (4)
17 (3) 42 (2) 67 (4) 92 (4)
18 (2) 43 3) 68 (4) 93 2)
19 (1) 44 (2) 69 3) 94 2)
20 4) 45 (4) 70 (2) 95 (3)
21 (1) 46 (2) 71 (4) 96 4)
22 (2) 47 3) 72 3) 97 (1)
23 (1) 48 (2) 73 3) 98 (1)
24 4) 49 (4) 74 (4) 99 (2)
25 (2) 50 (2) 75 (4 | 100 1 (3)
1. (2) The number of players in foothall is 11 wheares in
waterpolo, we have 7 players.
2. (3) Tigeristhe national animal of India and snow leopard
is the national animal of Afghanistan.
3. (2) 71=5040
81'=40320
4.  (2) Amoccasin is a type of shoe and an Aspis is a type of
snake.
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Zail Singh was the President of India whereas rest
three were the Prime Ministers of India.
Except 1241, rest are the multiple of 13 where 1241, is
a multiple of 17.
Except D, the other letter can be drawn with the help
of three lines whereas D requires 4 lines.

E 60 m F
G
20 m
10m C
D 10 m /',
B2om A

The movements of the person are from Ato F, as shown
in figure. Clearly, the final position is F which is to the
North-East of the starting point A.

On close observation, we find that figure contains
figure (4) rotated through an angle of 135° as shown
below:

Hence, the answer is (D).

400
Required answer = o 3=097 times.

Here, 3 has been subtracted as 100, 200 and 300 was
not a leap year.
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So, Bis incorrect.
Asgiven,

14+2=7
It means '+'="'+'

S0, \/6+5+5+5+5
11
=4/5+5+5+5+5 = 5><g><g><g><g

11 1 2.2360
=55 V= VB="0
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5x1-2=3
3x2-3=3
3x3-4=5
5x4-5=15
15x5-6=69
4x1-2=2
2x2-2=2
2x3-2=4
4x4-2=14
14x5-2=68

Only I and 111 follows.
Y3x6x12 =6
Y2x20x25 =10
Y2x4x64=8

13+12+17

6. 6+9+13:4,
7 7

12+14+9 _s, 21+13+22 _3

7 7

We have 30 rectangles and 5 hexagons in the given
figure.

Let the distance covered by taxi be x km.

Then, distance covered by car = (80 — x) km

15x + 5(80 — x) =500

or, 15x + 400 — 5x = 500

or, 10x = 100

or,x=10

.. Distance covered by taxi = 10 km

Hence, the answer is (1).

As it is clear from the description, ‘b’ lies opposite 'd’,
'c’ lies opposite 'a" and 'f' lies opposite 'e". So, when, 'c’
is at the top, 'a’ will be at the bottom.

Let the number of bananas in the second bunch be x.
Then, number of bananas in the first bunch

1 5
=X+-X=—X
4 4

So, Zx—x=3:5x—4x=12:x=12

5
. Number of bananas in first bunch = [ZXH) =15
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Area of four wall =2 x h(l + b)
=2x5(16 +11) =270 m?

Total area of gate and windows
=2x1+1%x075%x4=2+3=5m?
Avrea to be painted = 270 - 5 = 265 m?

.. Required cost = 265 x 2.50 = Rs. 662.5

V3 L
60 30°
1 JR—
4

3.5

ATQ,
-3 =288 m (given)
and eagle flies for 24 seconds

288x4

.. speed of eagle = N, =16+/3 m/sec.

Let the total votes be 100
ATQ,

100
—10
Winner| 52% 20

Aoser

52 38
(I
+14

14 unit = (13200 — 2000)

_ 11200 _ 800
14
\otes polled for losing candidate
=800 x 38 — 2000 (invalid votes) = 28400 votes.

Simple interest for 3 years = 76.51 — 1.51 = Rs. 75

75x100
1250x3

4 sin%0 + 6(1 — sin%0)
=4sin% + 6 —6sin?0 =6 — 2 sin%0

Now put the value of 6 = 90°

. 6-2=4

C.P. of 30 kg = 30 x 9.50 = Rs. 285

C.P. of 40 kg = 40 x 8.50 = Rs. 340

Total C.P. of 70 kg = 285 + 340 = Rs. 625
S.P.of 70 kg = 70 x 8.90 = Rs. 623

Loss = Rs. 625 - Rs. 623 = Rs. 2

From alligation-

0,

.. Rate % =

A B
5 8
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s 2
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63. (2)

1 2 slant height
=—.—=7:2 i
A and vessel B 13 o1 ih
+ nl +
sec ——
58. (1) -~ 4x=seco X =— 5 5
4 °
4 4
—=tano SX=— -
and X tan ©
, 1 sec’® 1
8 X ——2 — -
X 16 16
tan’ o o 13
—— From Triplet
2 2
_8 sec’® tan“6 =8><l=1. 5
16 16 16 2 1
7 SA = 2x40x12 = 240 cm?,
59. () A—10 3 64. (3) Distance travelled by A
B— 15 30—2 a
N 6 = 2 x distance b/w two points x [mj
Total work by A+ B in 4 min =20 3
Total work by A+ B& Cin1min=-1 =\ 21§ - =18 kms.
.. Total time taken by C to empty the tank
T
_20_ 20 min. B ) p ’ .~
1 D£6 , snc
60. (1) x+y=500 (1) 0 a %,
] R v as’ .
(20)* 50, 020 @ 2]
L 0= ——= 4% it H 4
0ss % = = o 0 Y A B R
500 20+ 2x =180°
Total loss = mx4 = Rs.20 S 0+x=90°
The value of T will be
.. Selling price = 500 — 20 = Rs. 480 /T +04+x=180°
61. (4) tan(40—50°) = cot(50° — 6) T +00° = 180° = /T = 90°
tan(46 — 50°) = tan(90° — (50° - 0)) —alT - ‘
- 49 -50° = 90° - (50° - 0) TN
30 =90 66. (3) T
..06=30
180° / 10 cm
62. (2) Valueof1radian = - 7 em |
(11 gian - 180° 5
gty fedan= 22 oy Avrea of the plateform
7 n(rg ~ 1)
180° _ 5 (525)° ar?h = n(rZ —r?)xH
= XTx== [—) 00
22 6 A =72 x10 = (14 ~72)xH
525° 1435 3° 49x10 10

132

. Value of 3rd angle =180°— — = =
11 11 11 21x 7

=H==—m.
3
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=(b—c),%=(c—a),§=(a—b)

a
ifa+b+c=0thena®+b®+c®=3abc

220 Y Z b cyc—ata-b=0
a b c
x ) y 2\ 3xyz
a b Cc abc

A=tan 11° tan 29°

=tan(90° — 79°) ?tan(90° - 61°)
=cot 79° . cot 61°

B =2 cot 61°. cot 79°

S B=2A

%(a+b+c)[(a—b)2 +(b-c)?+(c—a)?]

(a+b+c)

Ll e a2 2 _lx _
—2[( 4)° +(-3)° +(7) ]_2 74 =37.

ATQ,
X2+ 1+2x+y?+1-2y+272=0
(x+1)?+(y-10+2* =0
Sx==-1y=1,2=0
Put the above value in equation-
3X+5y+6z=3x-1+5x1+6%x0=-3+5=2.
Number of students enrolled in College A in the year
2009 = 1000
.. Number of students passed

80 60

=1000x —x—
100 100

=480
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70
Reqd. number of students = 2290 100~ 1603.

Average number of students enrolled in all colleges

3770
together in the year 2010 = 5 =754

Average number of students enrolled in all colleges

. 3090
together in the year 2010 = < 618

.. Reqd. ratio = 754 3 =377:309.
618

309
Number of students enrolled in College A in the year
2009 = 1000
Number of students enrolled in College B in the
year 2011 = 650

- Reqd. % = 39100 ~53.849% ~54.
650

Total number of students in the year 2010 from all
the colleges = 3090

.. Reqd. number of students

= 10% of 3090 = 309.

Replace 'will kill' by ‘would kill'. The sentence is of
conditional.

Replace 'or' by 'nor', as 'neither" is followed by 'nor'.

Replace 'isn't it' by 'didn't she?" as the question tag and
the sentence must be in the same tense.

Sentence starting with 'Not only takes inversion form.
Thus, it should be as 'not only did the bandit rob the
person'. The structure may also be 'The bandit not only
robbed ......"



